F4 1 e TEERP ARG NERE RS BB RS Hpsaisk—ER (K1) ol T R A
THERHEELZES TETHEZES
T28FE10A1H (£) . 20 (H) K&Ea— R 16 12 3003 () FEEKREDS (—) TEERE RS
THEEMBE AR— /sz&—[i%kmﬁzia Bt o — K 121010 T TER/NPEREEES
(—B) FERRE EFiH S
i [idE A 201 3 407 5. [ T 8fr
14£100m sxov Ry (1) 12.60 | I Epe () 12.81 [ EBE =¥ (1) 12.98 [EWJ)I #w (D 13.09 | KN RLEE (D 13.22 | KL #§ (1) 13.36 [/hBy BT (1) 13.46
JAJ3+0. 4 EG plé fEA T8 b5 b Y H i@]’*
24F-100m HRE HEX (2 12.69 | & kR (2) 12.80 | & & (2) 12.98 |[#THE EEHIIN (2) 13.00 | A& FEHL () 13.07 | (UMW ER (2) 13.17 EP{T 7y (2 13.21 |FEH HBER (2) 13.44
JA)-0. 4 5 fi INHEDE Y=} % Ei%in il A Y 1 fi
F3m200m JIIEE #FE (2) 25.35 |[#Ex Havb (2) 26.39 | A W () 26.72 | KE £ (2 26.89 | = s (2 26.95 | R EJ () 27.22 | EEF EM (2) 27.50
JA-0.3 FEIRAAD HE AOEE kv BR DU £ P AR
4£3B800m PR S Q) 2:16.91 /M i (2) 2:16.94[ 1A ThxFE (1) 2:18.99] +=E @ (2) 2:19.25] A BEHE (2 2:20.35| /MK TE O (2) 2:21.19] #HE @ (2) 2:22.31[ /hE O (2) 2:22.93
B /NFI I ped AN 5 5 H— W — B 1 ®E /INETE
21 JE1500m I B (2) 4:36.48| LI D X (2) 4:36.98] B EBAR (2) 4:30. 14| HEF 2R (2) 4:41.40| B T (2) 4:41.75) FH OFAE (2) 4:44.69] BE EA&RK (1) 4:44.79 KH FZ (2) 4:45.16
o L IR s - il i wa ik B [ A 356 Fth 1
JLim100mH (0. 762m) [ 5V FEREF (2) 16.00 | B Z=EE () 16.13 | @A B (2 15.34 [ B0 #EH (2 15.69 | A Em: (20 15.69 | AF Bk (20 15.83 | ®)II &=F (2) 15.86 | & #HE (@) 15.87
JEGE-0. 1 kA Al HUE i B [H A 56 INHEDE Hr— {2l
T i 50. 72 =) 51. 54 NI 52.12 G — 52. 17 | GiaE A 52. 37 T 52. 42 JBF 52. 67 A Y 53. 08
KN #2E (1) 8 FiE (@) TH w2 F AmHE (1) o eH ) IR R (2) A /& () EiE BN Q)
Fi@MAX100mR  [FEH EEKE (2 A EE (@ BE HbHE (2 wA vE (2 JIIE BWE (2 HE OIER (1) A BEET (2) il E/FT O (2)
HA KE O Wi #E @ KiG 1HE (2 IR X () L)l FEEO(©@ ERBE  EbL (1) g feE (2 Bl mAE (2
i EE (@ A RS (2) A #i (2) WH HEH (2 i AEE (D )l Fit (2 Mo R ZRE FIML (2)
1 ssmesmk i EE () 1mbd [ JIE EEF Q) 1mbd | M FE () Imbl 7 UUE (2 1wl | E Eonr @ 1ml | 27 =W (2 1ms | BF 20 () 1ms |ER AE T (2)  1mds
" T Hi PRI IR BEHL [ B 2B A
Sombempk | L EEC@) 2080 | OASH GE () 2m80 | PR R (2) w70 | i REL (2) 2m60 (A 0LV () 2m50 [5)HEE RE (1) 2mb0 | =AF JER (2)  2mB0 | wmiE RHEE (2)  2m50
P e S GR B = GR B =GR etz HE itz HEAED AN
sk | L, k% () bnsd [TE BE (@ sl [ BFE EE (@) n2s [ BiE @ w8 [k ~1 () bml2 [ &% EIF (@ smil [ MM FEH (@) m09 [IIFE EAE (@) 5nod
s H J\HTHHE = (0. 0) /NG (+0. 2) LB (+1.3) B i (+0.5) | NAABH (-0.2) )5 (+0. 1) KFnH (+1.3) I E— (+1. 1)
NS R VEEE () 1178 | AR EME (2) 11m65 |EH O BHFIH (2) 10m81 [UF AEE (2) 10m76 | AFIL FRJh (2) 10mlb [EE AT (2) 10m03 | JI L ZEHE (2) 10m03 | IUE ¥E (1) 9m98
(2. 721kg) iR /NFEJN NE R i I HE KF0 RKFN
FHIH100mH: 5 0. 762m  AV/#— I 8m
I mEL X2, T21kg
GR : K&EFmnsk
FUHE (b7 v7) MBI ERE (74— F)  FHE  fE FogkE e BEm RS




